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Shiksha Vikash Samiti, Odisha *"':(;f%
¥ Annual Examination-2020-21. \&=

Class - IX FM - 100
SUB - ENGLISH OBJECTIVE (Part-I) Time - 2 Hour.
Each question has four answers choices . Select the correct one and darken the
appropriate circle complementary in the OMR answer sheet. (1X50=50)
1. Kalam was intimately involved in India’s space programme.
A) armed force B) civilian C) military D) nuclear technology
2. Kalam began his career as a trainee at
A)HAL B) ISRO C)DRDO D) NASA
3. What was the subject Kalam in physics.
A) post-graduated  B) matriculated  C) trained D) graduated
4. “Today, I remember the hot day of at Pokharan 53°C”.
A) 1980 B) 1969 C) 1998 D) 1960
5.In 1969, Kalam was the Project Director of
A)DRDO B) IGMDP C)ISRO D)HAL
6. Swami turned into a hero over night by catching a
A) devil B) ghost C) thief D) burglar
7. Swami got up when father rolled up his bed and called him for the
A) third time B) fourth time C) many time D) second time
8. “I will make you the laughing stock of your school” The phrase ‘laughing stock’ means.
A) alot of laughter B) one who always laughs
C) one who is made to laugh D) one who laughs with other
9. Swami made wild gesticulation to silence his

A) father B) servant C) mother D) Granny

10. Swami Sweated with fright hearing

11. At last Selkirk leaves his solitary life to

A) light thud B) heavy sound C) rustling D) scratching

A) his friend B) God C) deserted Island D) loneliness



12. Society, friendship and love are given on man

A) lovingly B) divinely C) affectionately D) lonelinessly
13.The beasts over the plain.
A)run B) roam C) travel D) move

14. “Gives even affliction a grace” - The underlined expression means

A) distress B) peace C) tranquility D) surprised

15. What does the phrase “ the sallies of youth”. mean in the expression

A) the rudeness of the youth B) lively or humorous in the youth
C) the wisdom of youth D) old and wise people
16. In the poem “ the Wisdom of age” implies

A) the poet william cowper B) the wisdom of Selkirk

C) old and wise people D) the wisdom of wild creature

17. The poet appeals the winds
A) to take him to native land B) to convey his message of solitude to his friends
C) to bring message for his friends D) to help him distress

18. Who found charm in Solitude ?
A) the beast and birds B) good deeds
C) tameness of beast D) the ancient sages

19. They are so unacquainted with man. Here the underlined word ‘They’ means.

A)thesages  B)thebeasts C) the sea fowls D) his relatives
20. The ‘desolate shore’ refers to the

A) sea - beach B) forest C) Island D) cabin
21.1learnt that the new owner will be coming any day the house.

A) to reside B)tooccupy C) tolive D) to clean
22. The owner of the house had died of months ago.

A)one B) seven C) two D) a couple

23. From her father’s hand, Ammu took
A) the tea B) the tea and sugar  C) the vessel of milk D) the sink

24. Ammu’s father wants the new owner to get a

A) good impression  B) good idea C) good remark D) good outlook
2



25.*“ Then I have another plan” Who told this ?

A) Chelleppa B)Mrs Mohan C)Ammu D) Appa
26. begged, “well, shall we begin today itself ?”
A) Mrs Mahan B) Ammu C) Chinni D) Chellappa

27. Mrs Mohan asked Chellappa

A) to carry in the suitcases B) to come at nine in the morning
C) to clean the house thoroughly D) to take your lunch

28. Hearing her father’s word, Ammu wished that

A) she would go to school B) cursed her father
C) her mother was alive D) she could leave the house

29. Ammu yawned and

A) rose with a sigh B) got ready to make tea
C) blew on the flames D) rubbed off the sleep from her eyes

30. An hour later, Ammu went home in a happy

A) daze B) gaze C) mood D) expression
31. Preparation of food at home is expensive. Choose correct opposite word of the
underlined word.
A) unexpensive B) inexpensive C) disexpensive D) valueable

32. Sai Sankar has remembered the names of persons in our family who lived long time
ago. Write a single word for the underlined expression.

A) recollect  B) trader C) eminent D) ancestors
33. The police man on duty.

A)is B) are C) were D) have
34. Two weeks a long vacation for school students.

A) are B) is C) were D) have

35. Mark the correct spelling.
A) Aeronutics B) Auronutics C) Aeronautics D) Auronautics
36. Write a single word which means “very small pieces”.

A) armour B) fright C) encase D) shreads
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37. Aswini said, “I am living in chennai”. The indirect speech will be
A) Aswini said that [ was living in chennai. B) Aswini said that he was living in chennai.

C) Aswini said that he is living in chennai. D) Aswini said that he lived in chennai.

38. Any change in this arrangement kept him trembling. Write the parts of speech of the
underlined word.

A) verb B)noun C) adjective D) pronoun
39. The derivating word of ‘Act’ will be

A) Action B) Acted C)Acting D) All of the above
40. My friends me on my Success.

A) congratulates B) congratulation C) congratulated D) none of these
41. Your soup tastes bad. Write the position of adjective.

A) predicative B) attributive C) demonstrative D) post-positioned
42. My brother will study in a science collage. The underlined word is :

A) noun B) classifier C) adjective D) predicative
43. Which of the following is INCORRECTLY matched ?

A) high-low  B) narrow-wide C) quiet-noisy D) boring - onboring

44. Her progress at school is quite :
A) relax B) relaxing C) relaxed D) most relaxing
45. Which of the following is wrong.
A) river water B)photo studio C) morning bus D) childish marriage
46. Soham never goes to cinema. The underlined word is

A) adv of manner  B) adv of frequency C) adv of time D) adv of degree
47. Which of the following sentences is correct?

A) The girl worked out the sum cleverly at home this morning.

B) The girl worked the sum this morning at home cleverly.

C) The worked out the sum at home cleverly this morning.

D) None of these.
48. Why was the child crying so loudly in the garden a while ago ?

The order of adverb is :

A) MP B) MPT C) PMT D) PT
49. Luckily we won the match. Name the underlined adverb in the sentence.

A) adv oftime B) adv of degree C) sentence adv. D) adv of place
50. Choose the correct sentence.

A) My friends visits movies rarely.

B) My friend movies visits rarely.

C) Rarely does my friend visit movies.

D) Rarely my friend visit movies.



SUBJECTIVE (Part-II)

Figures in the right hand margin indicate marks.

Answer all the questions in your own words as far as practicable.

1. Answer the following questions in about 50 words each. (5% 2=10)
a) How did the wife of Kalam’s science teacher change her attitude ?
or
How was the burglar captured ?
b) Who looked at Selkirk with indifference and why ?
or
What is the poet’s prayer to the wind and why does the poet like the wisdom of age ?
2. Write an essay on any one of the following topics on the given outlines
about 200 words. (10x 1=10)
a) Your Grand Mother -

Outlines - Her name, age and appearance, Her daily routine, Her relation with
family members and her relationship with neighbours, Your love towards her, Your
impression about her.

b) An Ideal Student -

Outlines - Introduction, good qualities. participation in co- curricular activities, his/
her duties, conclusion.

¢) Science in everyday life.

Outlines - Introduction, blessing of science, reduce time and distance, effect and
influences, conclusion.

or

You are Surya Kumar Sahoo studying in Class - [X of Saraswati Vidya Mandir,
Gatiroutpatna, Cuttack. Write an application to your Pradhan Acharya requesting
him to arrange extra classes on English as you were long absent in school due to

Covid - 19. (5x1=5)
and

Suppose you are Tanushree Patra of Remuna, Balesore. Write a letter to your
friend inviting him to attend your birthday. (3% 1=3)



3. Read the passage carefully and answer the questions that follow, each in about
20 words. (2x5=10)

There lived a poor tailor in the city of Mathura. He was Ramphal. As he was
very poor, he had to live and work in one little room, with his wife Laxmi and their three
small children. The children fought with each other and made so much noise that Ramphal
was not able to work. They took away his needles, cut themselves with his scissors and
spoiled the pieces of cloth which Ramphal’s customers gave him to make into clothes.
Sometimes his wife Laxmi got angry with him. Ramphal shouted at her. He was very
unhappy and didn’t know what to do.

Question:-

a)What made Ramphal live and work in one little room ?
b) How many members were there in his family ?

c) Why wasn’t he able to work ?

d) Who was Laxmi ?

e) How did she behave to Ramphal ?

or

Suppose you are Aswini Kumar Das, the Reporter of the Indian Times, Cuttack.

Write a report of road accident which happened on national highway yesterday.
(5x1=5)

and

Translate into English. (Ix5=3)
a) 198 RIL K68 YR HIR |

b) 65166 @6 OFIQ YOI 6QR AUGR ?
c) 69 Q&6 AQQ em|

d) RLIY 9 KER eR A

d) @ 9eQ Q@TIGq!

4. Project Work. (20)
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Shiksha Vikash Samiti, Odisha **”l;f”

Annual Examination-2020-21. e

Class - IX FM - 50

SUB - Computer OBJECTIVE (Part-I) Time - 1 Hour.
Each question has four answers choices . Select the correct one and darken the
appropriate circle complementary in the OMR answer sheet. (1X25=25)

1) is the father of C-Language.

A) James Gosling B) Dennis Ritchie C) Guido Van Rossum D) None of the above

2) C-Language was developed in the year

A) 1982 B) 1964 C) 1972 D) None of the above
3) C-Language was based on language.

A)BCPL B) BASIC C) B D) None of the above
4) Cprogram starts with function

A)main() B) printf() C) scanf() D) All the above
5) Every C statement ends with

A){} B); C)> D)=~
6) Include pre-processor directive start with

A) & B) # C); D) None of the above
7) Stdio.his a file.

A) header B) standard C) Math D) All the above
8) help to understanding a program.

A) Header file B) Comment C) main method D) condition

9) IDE stands for

A) Integrated Demand Environment B) Integrated Development Equipment
C) Integrated Development Environment D) None of the above

10) 1s the shortcut key to Run a program.
A)F1 B) F4 C) F2 D) F5

11)String written within

A) Single quote ~ B) comma C) Double quote D) All the above



12) The default location of our C file is folder.

A)Bin B)Rin C) Tin D) Sin
13) Keywords are known as

A) Fix word B) statement word  C) reserved word D) None of the above
14) is a valid name for variable.

A)Su?m B)Sum C) suml D) 1sum
15) \nisused for

A) Tab B) new line C) backspace D) None of the above
16) sign is used for decimal number.

A) %f B) %s C) %c D) %d
17) symbol is used for Equal to .

A)= B) = O)! D) =
18) ++isa operator.

A) increment B) decrement C) unary D)bothA & C
19) function is used for input in C-language.

A) scanf() B) printf() C) main() D) clrscr()
20) is a address of operator.

A) %a B) < O) & D) {}
21) Ifworks with statement.

A) for B) while C) do D) else
22) 1s a multi directional conditional statement.

A) Switch....case B) if.....else C) for D) None of the above
23) loop run minimum one time while condition is false.

A) while B) do C) for D) All the above
24) give the starting value of loop.

A) increment B) body C) initialisation D) condition

25) In for loop all three expressions are separated by

A) comma B) semi colon C) dot D) None of the above



SUBJECTIVE (Part-II)
Figures in the right hand margin indicate marks.

1) Answer any FIVE. [2x5]

a) Write the features of C-Language.

b) Write the steps to starts C-Free.

c) Write a program to display your Bio-Data.

d) Write a program to enter two numbers and display the product.

e) Write the rules for naming a variable.

f) Write a program to enter two numbers and display the smallest number.

g) Write a program to display from 50 to 1 using For loop.

h) Write a program to display all the Even numbers from 1 to 100 using For loop.
2) Practical / Project work. [10]
3) Viva [S]

[Last 15 marks (No.2 & 3) depend on the local condition during this Covid-19]
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Shiksha Vikash Samiti, Odisha **”l;f”

Annual Examination-2020-21. e

Class - IX FM - 50

SUB - Computer OBJECTIVE (Part-I) Time - 1 Hour.
Each question has four answers choices . Select the correct one and darken the
appropriate circle complementary in the OMR answer sheet. (1X25=25)

1) is the father of C-Language.

A) James Gosling B) Dennis Ritchie C) Guido Van Rossum D) None of the above

2) C-Language was developed in the year

A) 1982 B) 1964 C) 1972 D) None of the above
3) C-Language was based on language.

A)BCPL B) BASIC C) B D) None of the above
4) Cprogram starts with function

A)main() B) printf() C) scanf() D) All the above
5) Every C statement ends with

A){} B); C)> D)=~
6) Include pre-processor directive start with

A) & B) # C); D) None of the above
7) Stdio.his a file.

A) header B) standard C) Math D) All the above
8) help to understanding a program.

A) Header file B) Comment C) main method D) condition

9) IDE stands for

A) Integrated Demand Environment B) Integrated Development Equipment
C) Integrated Development Environment D) None of the above

10) 1s the shortcut key to Run a program.
A)F1 B) F4 C) F2 D) F5

11)String written within

A) Single quote ~ B) comma C) Double quote D) All the above



12) The default location of our C file is folder.

A)Bin B)Rin C) Tin D) Sin
13) Keywords are known as

A) Fix word B) statement word  C) reserved word D) None of the above
14) is a valid name for variable.

A)Su?m B)Sum C) suml D) 1sum
15) \nisused for

A) Tab B) new line C) backspace D) None of the above
16) sign is used for decimal number.

A) %f B) %s C) %c D) %d
17) symbol is used for Equal to .

A)= B) = O)! D) =
18) ++isa operator.

A) increment B) decrement C) unary D)bothA & C
19) function is used for input in C-language.

A) scanf() B) printf() C) main() D) clrscr()
20) is a address of operator.

A) %a B) < O) & D) {}
21) Ifworks with statement.

A) for B) while C) do D) else
22) 1s a multi directional conditional statement.

A) Switch....case B) if.....else C) for D) None of the above
23) loop run minimum one time while condition is false.

A) while B) do C) for D) All the above
24) give the starting value of loop.

A) increment B) body C) initialisation D) condition

25) In for loop all three expressions are separated by

A) comma B) semi colon C) dot D) None of the above



SUBJECTIVE (Part-II)
Figures in the right hand margin indicate marks.

1) Answer any FIVE. [2x5]

a) Write the features of C-Language.

b) Write the steps to starts C-Free.

c) Write a program to display your Bio-Data.

d) Write a program to enter two numbers and display the product.

e) Write the rules for naming a variable.

f) Write a program to enter two numbers and display the smallest number.

g) Write a program to display from 50 to 1 using For loop.

h) Write a program to display all the Even numbers from 1 to 100 using For loop.
2) Practical / Project work. [10]
3) Viva [S]

[Last 15 marks (No.2 & 3) depend on the local condition during this Covid-19]
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